AR B KL RERMFERER

BAetB: 2021464 H 1 HEZE 202146 30 H

HE£# UL A B 4 % 300 k2
Eiiiﬁ%% #88 £/13776622622 i FRE SFACEF) V%‘i%"‘ﬁ! é‘%ﬁj)\
& A < ::.‘\
WAk AR E % #/17372959966 % \ i 1‘:; “
: —«;':z:, -l S ;
¥ & ikﬁ-.éj Mm' hi'
&it 3.34 0.00 St 2.76
50 3 % AR e 1.74 0.00 1575
hm? MIAFERER 1.25 0.00 0.51
I A3 £ X 0.33 0.00 0.50
AR E3) kS B4 itk & AFRFH Rit
REHE |7 m 0.39 0.00 0.49
KLEE (Ao 0.39 0.00 0.49
TRE#E | HHMEE | m 0.50 0.00 0.55
MAHERER| m 300 0 395
RoEE | m 600 0 72
S HEER | & 210 0 0
e | MEER | 0.38 0.00 0.40
BT | hm? / 0.00 0.05
KErtHEAA | m 650 0 0
A i bt BE 2 0 0
PERAEE | m? / 0 3600
HERER | m? / 0 16000
KEFRIFLR FEHE |Am 0.36 0.00 0.13
i THEEHE | XLEE [Am 0.36 0.13 0.13
ML A HHEL | bm? 1.20 0.51 0.51
EER W% AA E & m? 3900 0 1000
Kb 45 | WEECHEARA | m 770 0 350
L )3 2 0 0
THMEE | wEL | hm? 0.30 0.50 0.50
BENER | m? 4000 0 0
mAREP ﬁf 460 0 0
I Bt 3 - e HAA | m 230 0 0
7 I 45 VRIE) B I 0.00 1.00
#HFBES | hm? 0.30 0.00 0.50
BrAREE | m / 0 5800
# m / 0 60
K3 KB BHE (mm) 243.0

34



I FA 24 /MNHEFH (mm) 26.3

= ANE (m/s) 3.3
TEREAE (O 1.44
Kk R EEH %
42 LS 2L AYWEG S-SR AL RS, £

K £ K B 6 R

WEAFEALRFEN, &6 (EFERT
AERFE =67 FiH B A £ R = 6N 3847 BR300 L,
A TRERITNY “RE” .

35




A e B E K L ARFE R = A PPN IR IR RIR 7R

IR 4 #R YL EL R 4x300 Jk Z JEAENL T FE
Uyl ):hg2id
2021 - 2.76 /Ui
Fa iy 16 FTAE 6 E
R B
% 8 V] w0 RN
(k)
A 845 ME &0 Wi 49~ A
Wz E
15 15
2 1
.z
xEFBE
+Hy 5 5
s
H R
7+ (&.
15 15
B ) K
7K 3 KR I 15 15
KE| TR 20 20
Wtk
F 4 4 15 15 MR A B AT
R
ARk | B 10 10
KEREABE 5 5
& it 100 100

36






